DAS DREHMOMENT
F=3kN

BEISPIEL 1:
GEG: F=3kN (a=7m)
GES: Drehmoment M

M
00\ § M=F.a=3.7=21kNm
Drehpunkt =<// a=7m .
| R=5kN
I
| . BEISPIEL 2:
| F1=3kN " GEG: F1=3kN (a1=7m);
F2=2kN I F2=2kN (a2=3m)
I GES: Drehmoment M ;
I Ersatzresultierende R
M I
00\ ! ! M=F1.a1+F2.a2=
3.7+ 2. 3=27kNm
Drehpunkt Ca2=3m _ am _
- a1=7m _. R=F1+F2=3+2=5kN
- a=5,4m — a=M/R=27/5=54m
i R=6,5kN
| _ BEISPIEL 3:
| P13k GEG: F1=3kN (a1=7m);
F2=2kN | F2=2kN (a2=3m);
F3=1,6kN F3=1,5kN (a3=5m)
I
M | GES: Drehmoment M ;
0o > L Y Ersatzresultierende R
Drehpunkt _
PUNE Ja2=3m __ 2m__2m _  \M=F1.a1+F2.a2+F3.a3=
a3=5m . 3.7+ 2. 3+15.5=
o M = 34,5kNm
—_ al=7m —
_ a=5,31m R = F1+F2+F3 = 3+2+1,5 = 6,5kN
o a=M/R=345/65=5,31m
STATIK KM 1kN=1cm
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